Customary Units of Capacity
Sample Detailed Explanation for a Word Problem

Question:

Hank has some friends coming over and he wants to serve refreshments.  He makes 3 qt. of lemonade to serve his guests.

How many 12 fl. oz. glasses will Hank get from the pitcher?

Explanation:

I know that Hank has 3 quarts of lemonade.  I also know that he has 12 oz. glasses.  I want to know: how many fluid ounces are in 1 quart?

1. I know 8 fl. oz. = 1 cup

2. I know 2 cups = 1 pint

3. I know 2 pints = 1 quart

4. I multiply 8 x 2 x 2 to get the number of fluid ounces in 1 quart.

5. 8 x 2 x 2 = 32 fluid ounces (= 1 quart)

6. I multiply 32 fluid ounces in 1 quart by 3, because my original problem asks for how many fl. oz. in 3 quarts.

7. 32 fl. oz. x 3 qt. = 96 fl. oz.

8. Original question: How many 12 oz. glasses “fit” into 96 fl. oz.?

9. 96 divided by 12 = 8 glasses (answer to the problem)

If he has 11 guests coming, will everyone be able to have a 12 fl. oz. glass of lemonade?

Explanation:

1. Using what I learned in problem 1, that he has 96 fl. oz. of lemonade and that amount can be poured into 8 glasses, I know then that only 8 guests will be able to have a 12 fl. oz. glass of lemonade.  So, the answer is “no” because 8 guests can have the lemonade.  3 guests + himself would not get lemonade. 

